Défi junior CE2 numéro 5 par « Les Légendes des maths »
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Find the shortest way :
->three groups find the same thing
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We send this work to the math challenge.
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It's okay.
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It's okay but they don’texplain how to calculate the duration.
We don’t send this work to the math challenge.
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It's okay but they don’t explain how to calculate the distance and the duration.
We don’t send this work to the math challenge.

-> A group doesn’t find the same thing.
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-They don’t find the shortest way.
-The calculations have mistakes.
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You arrived at Waterloo Station at 9 o’clock am. At what time will you be back at Waterloo Station ?
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Use this table and coloured pencils to draw the tme !
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